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I ***SImply Fitting***




The Problem...

>The want for fitting programsisrising
>Current programs out there...
>»NCNR Guest Researchers




The Solution?

>An online datafitting application



http://129.6.123.23:8000/webfit

How to code in new functions?

> Functions are interactors




What are interactors?

> Functions are interactors
- Grobs
" Function itsdf




Coding In Javascript

>Prototype
>Plugin




Coding the Prototype

5. jgplot.Gaussian = funetion() {};
S.gpleot.Gaussian.protetype = new 5. jgplot . FuncticonConnector();
5.jgplot.Gaussian.prototype.constructor = 5. jgpleot.Gaussian;
S.extend(%. jgplot.Gaussian.prototype, |

initialize: funetion(parent, peak, pl, width) {
5. dgplot.FunctionConnector.prototype.initialize.call(this, parent, width);
this.name = 'gaussian';
this.f = this.gaussian;
this.points = {pk: peak, pw:pl};
this.c = peak;
this.pl = pl;
this._setpars();
b

_setpars:function () {
var cx = this.c.pos.x,

cy = this.c.pos.vy,
wx = this.pl.pos.x,
wy = cy = this.pl.pos.y;

var height = wy,
bkgd = =Z*height,
FWHM = Math.abs({wx - cx},
stdDev = FWHM / Math.sgrt(Math.log(256));
this.pars = { center: cx, stdDev: stdDev, height: height, bkgd: bkgd };

b
gaussian: funection (x) {

var resid = (x = this.pars.center)/this.pars.stdDev;
return this.pars.height = this.pars.height * Math.exp(=0.5 * resid * resid);

by




Coding the Plugin

L e e A

L

.jgplot.GaussianInteractorPlugin = funectien() {};

.jgplot.GaussianInteractorFlugin.prototype = new 5. jgplot.InteractorFlugin();
.jgplot.GaussianInteractorFlugin.prototype.contructor = new $.jgplot.GaussianInteractorPlugin;
.jgplot.InteractorFluginSubtypes.Gaussian = %.jgplot.GaussianInteractorFluging

Jgplot.GaussianInteractorPlugin.prototype.init = funetien{options) {
5.igplot.InteractorPlugin.prototype.init.call (this, options);
this.ymin = =1.9;

this.ymax = Z;

this.xc = 2.25;

this.xhw = 5.2;

S.extend(this, options);

this.pk = new $.jgplot.FluginFoint();
this.pk.initialize(this, this.xc, this.ymax);
this.pw = new $.jgplot.FPluginPoint (};
this.pw.initialize(this, this.xhw, this.ymin};
this.Gaussian = new %.jgplot.Gaussian();
this.Gaussian.initialize(this, this.pk, this.pw, Z2};
this.grobs.push(this.pk, this.pw, this.Gaussian);




A Future Direction

>Add Accounts
>»Organize and Add Datain Layers

>Finish implementing Nelder-Mead Simplex Algorithm for
Fitting
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File ~ Edit ~

Fit Controls

-
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